Economic Tendency Indicator
Index, mean = 100

140 7" "-"--m oo - 140
120 - e e e - 120
100 - 100
80 -+ - 80
60 1 1 I 1 I 1 60
08 10 12 14
Manufacturing
The confidence indicator, seasonally adjusted values.
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Building and civil engineering
The confidence indicator, seasonally adjusted values.
Index, mean = 100
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Retail Trade

The confidence indicator, seasonally adjusted values.
Index, mean = 100
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Private Service Sector
The confidence indicator, seasonally adjusted values.
Index, mean = 100
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Consumer
The confidence indicator, seasonally adjusted values.
Index, mean = 100
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